The Code of Hammurabi is an example of 

(1) The power of string kings to control trade.

(2) Regulations on the way to conduct wars against neighboring nations.

(3) The power of a legislature to veto laws passed by absolute monarchs.

(4) Written rules for legal procedures. 
“…If  a man has knocked out the teeth of a man of the same rank, his own teeth shall be knocked out.  If he has knocked out the teeth of a plebian (commoner), he shall pay one-third of a mina of silver…”

-Code of Hammurabi 

Which statement is supported by this excerpt from Hammurabi’s code of laws?

(1) All men are equal under the law.

(2) Law sometimes distinguished between social classes.

(3) Violence must always be punished with violence.

(4) Fines are preferable to physical punishment.
One similarity in the Mesopotamian, Egyptian, ancient Indian (Harappan), and ancient Chinese civilizations was that they each developed 

(1) Democratic governments

(2) Monotheistic religions

(3) Irrigation systems

(4) Industrialized economies 

Which characteristic did the early civilizations that developed along the Nile, the Tigris –Euphrates, and the Hwang Ho (Yellow River) have in common?

(1) Transportation and communication were promoted by a mild climate, fertile soil, and natural waterways.

(2) Urban communities were built using iron and steel tools.

(3) The form of government in each community was based on male suffrage.

(4) Each society’s religious beliefs were based on monotheism.

